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1. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
FEARMCEN L% Z G 7N > o A 2B PR LB T
FEARN R % E IR HT > 35 A ZERIT I -

2. This is a 25 question multiple choice test. For each question, only one answer choice is correct.
iR B2 E R RN o AREE E U B IEREE R -
KR EUFESEERER IR - EEH A IEEE -

3. Please circle the answer to each question as shown below with a pencil. If there is any change, use the eraser
to completely erase the previously circled answer.

RN F T R PR 8 P SIS I B s B0 7 SRR Y o A B - AR R SE e R ORI 5%
TR RRER H I A B T PR S o A E R > 5 AR B S AR I ORI 2

(A) 1 (B) 2 @3 (D) 4 (E) 5

4. Every question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 100 points.

FHEE H A ERE » B BN > B2 AFR00) o ANRKBIEH# 7 7410053 ©
T H AL E R o B XA ) > B ZE BAR05) o AR 23 10043 ©

5. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test reguire the use of a calculator.

FURERE P RARAR ~ AR ~ R~ BAGFIS R TH « st A LA o i3
AT AT Ao] I RE DA ZH 5 20l Pl 5w
FUREAE I BRRAR ~ 84K ~ R~ BAGAE B0 TH MG SRr e - Ml
ATATA il LA 2T 2t 7 S

6. Figures are not necessarily drawn to scale.
Vi J AN — e 4 A T
B A — et L2z ) -

7. You will have 60 minutes to complete the test once your proctor tells you to begin.
B Z R EAT BAGTR > VR A 6053 S HY IR 1] 58 I -
W% B EATIFIG)R > VRH A 605 BhE I i 58 i -
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(E—4: 8ETEH, SE3 4 | £ sHHH, HHE3I 5|

1. Pablo has 6 balloons. He gives away 2 of the balloons. How many balloons will Pablo
then have?

Pablo & 6 8 & 3k. feifih Xk 2 AR K. M Pablo & & A & 18R R?

Pablo A 6 A~&zk. H#ui% k& 2 A3, 7 Pablo JU/NAER?
(A) 2 (B) 3 (O 4 (D) 5 (E) 6
[Proposed by Sweden | 3% 34438 | 5 f4 A2 |

2. Which of these puzzle pieces completes the picture?
VAT — BB 7T ALLR 7 269 8 5 »
AT R — St B 7T DAL T B B 7 2

?

&

[Proposed by Russia | 4% % 27428 | # F A7 454

(A)

(&)

N

(D) l

P
(E) S
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3. How many of the shapes shown are triangles?
TEYHZIE=AR?
TAYAZIAZAR?

A D
TRGAC

(A) 2 (B) 3 ©) 4 (D) 5 (E) 6

[Proposed by Austria | R3bA|4E2E | R34

at 5 different moments as shown below. What does Mia’s fourth picture look like?

Mia Z{BRAn s TR BE—MEIX3IX3 Y RLHEE. TEHAMAESEARERZ G
% R . B Mia 69 % w9 ik B R AT AR 692

Mia FANF Ao s SRR —ANBX B X3 KL HK. TERMADS ANRE Z 3849
)7 . ¥ Mia 89 % v@ iK B8 | AT A 4£69°2

B O A

[Proposed by Germany | & B 428 | & H 44 |

5. How many pencils are shown in the picture?
TH S R E?
BYH % 4L

(A) 7 (B) 8 O 9 (D) 14 (E) 16
[Proposed by Belarus | &% # A4 | G4% F AT |
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6. Simon writes the four digits 2, 0, 2, 5 in the four boxes. Which order would give her the

largest result?

Simon #wE#KF 2, 0, 2, 5 FAWEFER. MAAEHFDEFEIFE R K69 R?

Simon Few MK F 2, 0, 2, 5 5AWANAFEL. FIAAFHFDIA 242 R K694 R?
L+0-0+0

(A) 0,2,2,5 (B) 0,5,2,2 O 2,5,2,0 (D) 5,0,2,2 (E) 5,2,0,2

[Proposed by Germany | & E 44 | i& E 4L

7. Lisa spins her sail. Which of the sails below is hers?
Lisa 48 7469 B £ . B T @ ME 24 69 B $ 2
Lisa #63) T4 69 & . 1P T @R AN 2R 69 W 52

A
(A) | (B) ‘ (@) i (D) i (E) i

[Proposed by Germany | & B4t | & E 44 |

8. Mike has 2 shapes made from cubes, as shown below. Which construction cannot be made

by combining these two shapes?

4o B Brw, Mike A mfE oy = 7 R AL A A9 AE AR . LA MAAM AL, FAetkie T 51908
ZREE 2

o B B, Mike A B AW 2 7 R R AT AR AR S A XA DR AR, REM DL T @A

SZARE TG ?
(A) ‘ (B) ' (@) ‘ (D) l (E) ‘

[Proposed by Russia | 4% Z 4420 | 1K F AT 4AL |

2025 HAEBERARE YRR 3 2025 A HHFERAER—HRE
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‘ Part 2: 9 problems, 4 points each
(Eoms: VEER, SEAH | WS 9 EEE, BE4L 5

D_AA_AD_D

Which pinwheel can Jorge build with these 3 rods above?

Jorge JA £ &9 3 ARAF T AR 55 AR AN R 2
Jorge JA £ 69 3 ARAT TRk #5 5 RN KA

(D) | (E) %

[Proposed by Poland | % B#5R8 | & 2454

Four shapes are arranged in a row. Neither the rhombus nor the circle is at an end of the
row. The triangle is immediately to the right of the circle. Which of these shows the row

of shapes?
AufEE M HIN R —AT. EH AL RG. =AY ARG LS, T LEHEL. M
g LB A HE S R EARE?

HONABHINR—AT. RN FRABATARG. ZAVERBOED, FALEAEL. =
X T A HE S R EAF 62

~l O ¢ OA¢ N
O¢\l ., HeOA

©

g

(E)

[Proposed by Russia | 4% % #7828 | 4K F A4 A4 |

2025 HAEBERARE YRR 4 2025 A HHFERAER—HRE
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11. Two daisies have 8 and 9 petals respectively. Polina tore off 2 petals from each daisy. How

many petals are left on the daisies in total?

MARBHASANA 8 KA 9 f . Polina HARMEI LT 2 Aiu#. MIAAERL
BAREMNT % R iesHk?

7 4 30 A BIA 8 S JedbAe 9 4 ek, Polina A4 M LA T 2 A 6. 17 A H k
EREHT 5 0 0 i

(A) 10 (B) 11 (O 13 (D) 15 (E) 17

[Proposed by Belarus | &% % #i4t2 | G4% F A4k A4 |

12. Which figure did Feri use the most matches to create?
Feri A X &ApHt T & MEE L . MIE B A6 KRER Z?

Feri i KSRMHEAR T UABEF . FIIRAEF A6 KBRS ?

P

(B) & Q)

[Proposed by Hungary | & F #4588 | & F A4 |

(A) :
(D) Z ;
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13. Which entrance should the rabbit start from to take the shortest path to the carrot?
KT IEZAAMBN T BB, ARG R A S IR E] B ) 2
KT RLAGARIAN T B L, AT A AL AR IRE| AT 2

=
3L—

E=lmel -
l N

y 4
o °

(A) 1 (B) 2 ) 3 (D) 4 (E) 5

[Proposed by Iran | 47 34478 | 7 8444 |

14. There are 12 students in a line. Counting from the left, Warren is seventh in the line.
Counting from the right, Victor is eighth in the line. How many students are between

Warren and Victor?

12 28 AR —HF. # A% ¥, Warren 2% 7 8. # A% %4&, Victor 2% 8@. M
Warren #= Victor 2 [u] f £ & 2 4 ?

12 45 A HEm—HE. MAD KA, Warren 2% 7 4. M ia#4e, Victor 2% 8 4. 19
Warren #= Victor Z 8| JUG 5 4 ?

K/ =
Q“u{\

h

(A) 1 (B) 2 © 3 (D) 4 (E) 5

[Proposed by Philippines | 3/ 444 | 424

15. On a normal dice, the total number of spots on two opposite faces is always 7. Which one

of the dice shown could be a normal dice?
HAZ RGBT, BEARADOBIGEFARL 7. M A TIME T AL —AZ E BT
FAREGR T, A AATDE LG EFERLT. FATIRAT R RAFE BT

(A) (B) © (D) (E)

[Proposed by France | ixBE4:#8 | % E 44 |

2025 HAEBERARE YRR 6 2025 A HHFERAER—HRE
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16. Which of these keys fits the lock shown in the picture?

VAT PIMME 48 RLAE AT BA B) P 69 882

VAT IR /NAA R AR 4T T P 89452

-y @
;%0 “ .
(D) (E)

) )

[Proposed by Taiwan | & #4438 | & & 454 |

17.
= A A *
= A * Xk
=
A A *x X =
A A *x X = AL
*x =

The four figures below are arranged in a certain pattern. Which of the following should
be the first figure?

LR B R EE—ZHAEHS . A TIMERE RS — A B

@ AN R — ZAEHETN . FIATHRARLIZ AR —NEE?

A A * X%
A *
* % i — * %
= A A
(A) (B) (@)
== * % =
* A
(D) (E)

[Proposed by China | & B4 | B 44

2025 B BERABRE—YRE 7 2025 FHRBFRBSEF—HHRE
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‘ Part 3: 8 problems, 5 points each

(=64 8B, SE5H | £=H%H: 8 HHE, SHES5 4

18. Which two of the pieces shown below complete the chessboard?
MR VATF R W S5 B VT A ST AR 6 B s BB AL AR
A JR) AT VAR R S BF P ST VA ST ARG B ol AR A

Ltk e

(A) 1,2 (B) 1,5 (©) 3,4 (D) 3,5 (E) 4,5

[Proposed by Catalonia | #n &% & B4R | A ¥ R IEAEA |

19. There are 13 cubes stacked in the corner of a room. Each is coloured red or blue. Directly
below each red cube is a blue cube, and directly below each blue cube is a red cube. How

many blue cubes are in the stack?

HIBMEZHREERELMG A% BRI TR ARLEYN, ZAREEY. AHELE
THAMYET AR —BEELIHIRE, EHMRBECLITHYET A AL e L5788, ME
SRS AR DA SR
HIBANZHRBRAEL NG %, BAZFTREARLZEY, 2ARKEEY. A ol
S HRGET HRA—ABRELTR, BEAENEELZHFTHRGET SR —ALEZHIK. FX
L TR S AEE ke

)

\ad

0

VAVANRYA

(A) 4 (B) 6 © 7 (D) 8 (E) 9

[Proposed by Vietnam | A& #ERAE | Ay A |

2025 HAEBERARE YRR 8 2025 A HHFERAER—HRE
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20. 3 years ago, the sum of Ana’s age and Ben’s age was 6 years. Ana is currently 7 years old.

How old is Ben now?

3 477, Ana foBen 69 #4822 6 k. Ana A&7 K. M Ben RAEKKR?
3%F, Ana feBen 69582842 6 ¥ . Ana L7 ¥ . B Ben AL S ?
(A) 1 (B) 5 © 6 (D) 7 (B) 11

[Proposed by Poland | 7%k #4428 | /& 244 |

21. The tables below were filled with numbers according to a pattern. Some numbers have

been erased. Which number was in the cell marked with the question mark?

TERERBIAENEANTH. A —2BHERT. MBEAMROELKLZOHT S

B
TR0 MBI ANT 5. A — R HHIERT . AR 50 LHHR S
P
; 13
7 10 2?22 23
516'|7 15116 | N 25
3| 4 14|13 |12 19 17
240103 3 1 B 1 2 1
(A) 8 (B) 9 Q) 12 (D) 20 (E) 22

[Proposed by Vietnam | A& A8 | A A2 |

22. Kurio draws some flowers on a sheet of paper, then places two transparent pieces of plastic

on top of the sheet, as shown in the figure. How many flowers are covered by both pieces?

4o 8 P, Kurio £—fkak L& 7T —&78, RRAKLEAT MERENEB R . MA S VX
AR IEBIG R PR E?

o B B, Kurio £2—3K4k L& 7T —340, REAKEXTHIKEREHA. A S V£
AR AL R BB & &2

(A) 2 (B) 3 ©) 4 (D) 5 (E) 6

[Proposed by Vietnam | A% 428 | Al 44 |

2025 HAEBERARE YRR 9 2025 A HHFERAER—HRE



23.

24.

25.

2025 Hong Kong Mathematics Kangaroo Contest - Maternelle (Lower & Upper K)

The beads on a string alternate between black and white. Each block hides five beads.

How many white beads are hidden in total?

MTLYRTEZOHE. BEFTREET ZBRT. MAXEBEET S B ERT?
BFLEORTLZOY. EAFTHEETAHRT. AEEEET ZIHMGEHRT?
(A) 4 (B) 5 © 6 (D) 7 (E) 8

[Proposed by China | ¥ E4:4 | P B4 |

Four of the following picture are of the same cake but from a different angle. Which cake

is the different one?
T@EAE R AR ZR—EEHEERR A ZBEY. MYMEE R BT 2S — 8RR
T@Eeg AR AWK EZR —ANEERNRE A EHENG. FIRAR R 2T E7 —/NEH?

a8 8 8
s 8

Lena has 2 white, 2 yellow and 2 red roses. She wants to make two bouquets of them, 3

roses in each. How many ways are there to do this?

Lena A 2 G333, 2 258, 2 4. ARZREBMRMEL, H#RE3 L. M
REH S VARG Tk

Lena A2 &3, 2 25 HIR, 2 2483, MK M RTmEL, BRL3 K. 7
XK S VIR T ikR?

250008

(A) 3 (B) 4

(D) 6 (E) 7

[Proposed by Belarus | &k &M | 1K F AT AAL |

2025 HAEBERARE YRR 10 2025 A HBFERAER—HRE



